7. 343+ X ASHI HIN
<708 2005.7.15.>

SHFSY U AR ZAILE A
717} - 20199 19 1dHH

20199 129 314717

7t FAEH) SYTHA

oy | sA23EE | zax | IE L.
HMEAZO|EF 10,057,200

2019-01-02 XNGAtz] =/E=E E0) NE=Ea 10,000 28CMS
2019-01-02 XYtz =AE=E Z[Xl0 NE=Ea 20,000 2dCMS
2019-01-02 XNGAtz| Z/SE 440 NE8=da 20,000 2dCMS
2019-01-02 XNGAtz] Z/SFE 0|20 HXEZRZ 5,000 284CMS
2019-01-02 X9tz =REE g9o NE=)= 10,000 284CMS
2019-01-02 X9Arzl 2]EE ESPA[Y NE=2R= 30,000 24CMS
2019-01-02 XAtz =REE 0|7]0 NE=2-F 10,000 284CMS
2019-01-02 XNGAtz] =AEFE %50 NE=Ea 30,000 2dCMS
2019-01-04 XAzl 2AEE o0 NE8=Ea 50,000 2dCMS
2019-01-04 XNGAtz| Z/SFE 400 HXEZRZ 20,000 2dCMS
2019-01-09 XAzl 2]EE AEQ HXE= = 10,000 284CMS
2019-01-09 X9tz =REE d4=0 NE=)= 10,000 284CMS
2019-01-09 XAtz =)FE =0[0 HIX|E= 2= 10,000 2dCMS
2019-01-14 XAz 2ASE gh&0 NE=2-F 2,000 ZHCMS
2019-01-14 XNgAtz] ZASFE F80 NE8=Ea 10,000 2dCMS
2019-01-16 XNGAtz] Z/SFE 440 HXEZ)Z 10,000 2dCMS
2019-01-17 XAzl 2]FE 0180 NE=/= 10,000 ZdCMs
2019-01-17 XAzl 2]EE 440 NE=2-= 10,000 B884CMS
2019-01-21 XAtz =)SFE Hif==0 NE=Ea 30,000 2d4CMS
2019-01-21 XNGAtz| =/FE 4Xl0 NE=Ea 20,000 2dCMS
2019-01-23 X9Arzl 2AEE =0 NE8=da 10,000 28CMmS
2019-01-23 X9Arz 2AEE 520 NE== 5,000 2dCMS
2019-01-23 KNGtz 2AEE EN) NE=Ea 10,000 2d4CMS
2019-01-23 X9tz =2REE X0 HIXE2 )3 10,000 24CMS
2019-01-23 XNGAtz] Z/FE =30 HX|E= 2= 10,000 2d4CMS
2019-01-23 XAz =EE =0 NE=Ea 20,000 2dCMS
2019-01-23 X9Arz 2AFE £20 NEZ=Hd= 5,000 k=R Na VS
2019-01-23 XAtz Z/FE Fare [0 HXEZ)Z 10,000 ZdCMmS
2019-01-23 XAtz =AE=E ot710 HIX|E =23 20,000 2d4CMS




2019-01-23 XNGAtz] =ASE 40/o NE=2Ea 10,000 2dCMS
2019-01-25 XAzl 2AEE 0|g0 HIX|E= 2= 50,000 =T Y
2019-01-28 XAz 2AFE ZZo NE=2d= 10,000 HCMms
2019-01-28 X9Atz] =REE |20 NE=2)= 5,000 284CMS
2019-01-28 XAzl 2]EE AMHO NE=-= 10,000 2d4CMS
2019-01-28 XAz =EE g0 NE=Ea 20,000 2d4CMmS
2019-01-28 XNGAtz] =/E=E =30 NE=Ea 50,000 2dCMS
2019-01-28 XAzl 2AEE O|&0 NE8=Ea 10,000 2d9CMmSs
2019-01-28 XNGAtz] Z/FE 230 NE8=Ea 10,000 2dCMS
2019-01-28 XAzl 2]EE 510 NE=2= 20,000 ZdCMSs
2019-01-28 XAzl 2dEE 430 NE=-= 10,000 B884CMS
2019-01-28 XAtz =/FE kA0 NE=Ea 5,000 2HCMS
2019-01-28 XNGAtz| =/ZE 30 HIX|E= 2= 5,000 2dCMS
2019-01-28 XAzl 2dEE =730 HX|E= 2= 5,000 2dCMmS
2019-01-28 X9Arzl 2AEE o|ojo HXIE= 2= 5,000 2dCMS
2019-01-28 XAz 2]EE ZIM0 HXE= = 10,000 BHCMS
2019-01-28 X9tz 2REE o|ofo NE=-= 10,000 84CMS
2019-01-28 XNGAtz] Z/FE 2350 NE8=Ea 10,000 2dCMS
2019-01-28 XNGAtz] =)= E =520 NE=Ea 10,000 2HCMS
2019-01-28 X9Arz 2AFE Z0o NEZ=Hd= 20,000 2dCMs
2019-01-28 XAzl 2AEE 5120 NE=Ra 10,000 ZdCMS
2019-01-28 XAzl 2]EE 2AH0 NE== 10,000 2HCMS
2019-01-28 XAtz == Z|=0 HIXE=2 3 50,000 2dCMS
2019-01-28 XAzl 2EE 0|20 HX|E= 2= 20,000 284CMS
2019-01-28 XAtz =/FE 420 HIX|E == 10,000 2HCMS
2019-01-28 XAzl 2dEE O|20 NE8=da 20,000 A=
2019-01-30 XAtz 2/ rare [0 HXIE= 2= 5,000 ZdCMS
2019-01-30 XAtz =AEE olsio HIX|E =23 5,000 2d4CMS
2019-01-30 XNtz =E=E 2=0 NE=Ea 10,000 2dCMS
2019-01-30 XNGAtz| ZAFE otHo NE8=Ea 20,000 2dCMS
2019-01-30 XAzl 2EE 2o NE=Ea 10,000 284CMS
2019-01-30 XYArzl 2]EE 4=0 NE== 20,000 24CMS
2019-01-30 XAz 2)EE O|&0 NE=2R= 20,000 2dCMS
2019-01-30 XNGAtz| ==& 4Lto HIX|E =23 50,000 2d4CMS
2019-01-30 XAtz =A=E SN [0 NE=2Ea 50,000 sHYT
2019-01-31 XAzl 2SS 20 NE8=Ea 50,000 2dCMms
2019-01-31 XAz 2AFE 20 NE=d= 10,000 2dCMs
2019-02-01 X9Atz] =REE ZX]0 NE=-= 20,000 284CMS
2019-02-01 XAzl 2)EE 490 NE8=2Ra 20,000 ZdCMS
2019-02-01 XAz 2ASE 0|20 HXE= S 5,000 ZHCMS
2019-02-01 XNGAtz] ==& ESPA[Y NE=Ea 30,000 2dCMS
2019-02-01 XAzl 2AEE %50 NE8=da 30,000 2dCMmSs




2019-02-07 XNGAtz] =ASE E0] NE=2Ea 10,000 28CMS
2019-02-07 XAzl 2AEE galo HIX|E= 2= 10,000 2dCMmS
2019-02-07 XAzl 2AEE o0 NE=Ea 50,000 2dCMS
2019-02-07 X9Atz] =REE 01710 NE=2)= 10,000 284CMS
2019-02-07 X9tz =REE 400 NE=da 20,000 2d4CMS
2019-02-11 XNGAtz| =/FE 40 NE=Ea 10,000 2d4CMmS
2019-02-13 XAz 2ASE AEQ HXE=dZ 10,000 ZHCMS
2019-02-13 XAzl 2AEE g0 NE=)= 2,000 2d9CMmSs
2019-02-13 XAzl 2EE F820 NE8=Ea 10,000 2dCMS
2019-02-18 XAzl 2]EE 0180 HXE= 10,000 ZdCMSs
2019-02-18 XAzl 2dEE 440 NE=-= 10,000 B884CMS
2019-02-18 XAtz =/FE 440 NE=Ea 10,000 2HCMS
2019-02-20 XAz =EE Hi{=~0 NE=Ea 30,000 2dCMS
2019-02-20 XAtz =S X0 NE8=da 20,000 2dCMmS
2019-02-20 X9Arzl 2AEE 0|Z0 HXIE= 2= 50,000 ST
2019-02-22 XAz 2]EE T50 NE=-= 10,000 BHCMS
2019-02-22 X9tz 2REE g2 NE=-= 5,000 84CMS
2019-02-22 XNGAtz] Z/FE R EA0) NE8=Ea 10,000 28CMS
2019-02-22 XNGAtz] =)= E SX[0 HIX|E= 2= 10,000 2dCMS
2019-02-22 XAtz Z/FE =%0 HX|E= 2= 10,000 29CMS
2019-02-22 XAzl 2AEE o|ojo NE=Ra 10,000 ZdCMS
2019-02-22 XAzl 2]EE HF20 NE== 20,000 2HCMS
2019-02-22 XAtz == £20 HIXE=2 3 5,000 28CMS
2019-02-22 XAtz Z/FE 430 NE=Ea 10,000 284CMS
2019-02-22 XAtz =/FE 43to NE=EaE 20,000 2HCMS
2019-02-22 XAzl 2dEE 400 NE8=da 10,000 29CMS
2019-02-26 XAtz 2/ A0 NE8=R= 10,000

2019-02-27 XAtz =AEE 440 NE=Ea 10,000 28CMS
2019-02-27 XNtz =E=E =20 NE=Ea 5,000 28CMS
2019-02-27 XNGAtz| ZAFE A0 NE8=Ea 10,000 2dCMS
2019-02-27 XAzl 2EE g2rM0 NE=Ea 20,000 24CMS
2019-02-27 X9tz =REE =30 NE=da 50,000 24CMS
2019-02-27 XAz 2)EE O|&0 NE=2R= 10,000 2dCMS
2019-02-27 XNGAtz| ==& 230 NE=Ea 10,000 28CMS
2019-02-27 XAtz =A=E 510 NE=2Ea 20,000 28CMS
2019-02-27 XAzl 2SS %420 NE8=Ea 50,000 2dCMms
2019-02-27 XNGAtz] Z/FE 490 NE=Ea 10,000 284CMS
2019-02-27 X9Arzl 2JEE ) NE=-= 5,000 284CMS
2019-02-27 XAzl 2)EE 30 HXEd= &= 5,000 ZdCMS
2019-02-27 XAz 2ASE 30 HXE= S 5,000 ZHCMS
2019-02-27 XAz 2ASE o|ofo HXE= S 5,000 BHCMS
2019-02-27 XAtz Z/FE ZlIM0 HIX|E= 2= 10,000 2dCMmSs




2019-02-27 XNGAtz] =ASE 2350 NE=2Ea 10,000 2dCMS
2019-02-27 XAz 2AFE &80 NE=d= 10,000 23CMs
2019-02-27 XAz 2AFE Z0lo NE=2d= 20,000 Z8CMs
2019-02-27 X9Atz] =REE 5120 NE=2)= 10,000 284CMS
2019-02-27 XAzl 2]EE 420 NE=-= 10,000 2d4CMS
2019-02-27 XNGAtz| =/FE %70 NE=Ea 50,000 2d4CMmS
2019-02-27 XAz 2ASE 0|20 HXE=dZ 20,000 ZHCMS
2019-02-27 XAtz Z/SFE 420 HIX|E= 2= 10,000 2d9CMmSs
2019-02-27 XAzl 2EE O|=i0 HIXE= 2= 20,000 2dCMS
2019-02-28 XAzl 2]EE ddllo HXE= 5,000 24CMS
2019-02-28 X9tz =REE olsfo HXE= = 5,000 B884CMS
2019-02-28 XAtz =/FE otdo NE=Ea 20,000 2dCMS
2019-02-28 X9tz =R)EE 2rto NE=-F 10,000 Z8CMSs
2019-02-28 XAtz =S 40 NE8=da 20,000 2dCMmS
2019-02-28 XNGAtz| ZASFE 4Lto NE== 50,000 2dCMS
2019-02-28 XAtz 2AEE 2k 710 HIXE =23 50,000 24CMS
2019-03-04 XAzl 2]EE Z30 NE=-= 10,000 84CMS
2019-03-04 XNGAtz] Z/FE ESPA[Y NE8=Ea 20,000 2dCMS
2019-03-04 XNGAtz] =)= E 440 NE=Ea 20,000 2dCMS
2019-03-04 X9Arz 2AEE 0|20 HX|E= 2= 5,000 29CMS
2019-03-04 XAzl 2AEE 2730 NE=Ra 10,000 ZdCMS
2019-03-04 XNtz =AE=E g9lo NE=Ea 10,000 24CMS
2019-03-04 XAtz == Z[Xlo NE=2Ea 30,000 2dCMS
2019-03-04 XAtz Z/FE 0|7]0 NE=Ea 10,000 284CMS
2019-03-04 XAtz =/FE %50 NE=EaE 30,000 2dCMS
2019-03-06 XAzl 2dEE ps]e NE8=da 50,000 29CMS
2019-03-07 XAtz 2/ 4=0 NE8=R= 10,000 ZdCMS
2019-03-11 XAtz =AEE 400 HIX|E =23 20,000 2d4CMS
2019-03-13 XNtz =E=E g0 NE=Ea 2,000 2dCMS
2019-03-13 XNGAtz| ZAFE F820 NE8=Ea 10,000 2dCMS
2019-03-15 XAtz Z)FE G HXIE= 2= 10,000 284CMS
2019-03-18 X9tz =REE 0|80 HXE= = 10,000 24CMS
2019-03-18 XNYAtz] Z/SFE 440 NE=2R= 10,000 2dCMS
2019-03-18 XAz 2JAEE 20 NE=2F 10,000 ZHCMS
2019-03-20 XAtz =A=E Hi{=~0 NE=2Ea 30,000 2d4CMS
2019-03-20 XNGAtz| ZASFE 4Xlo NE8=Ea 20,000 2dCMms
2019-03-22 XNGAtz] Z/FE =0 NE=Ea 10,000 284CMS
2019-03-22 X9Atz] =REE 820 NE=-= 5,000 284CMS
2019-03-22 XAtz 2SS ) NE8=2Ra 10,000 ZdCMS
2019-03-22 XAtz =RSFE SX[0 HIX|E= 2= 10,000 2d4CMS
2019-03-22 XAz 2ASE =g0 HXE= S 10,000 BHCMS
2019-03-22 XAzl 2AEE o|ojo NE8=da 10,000 2dCMmSs




2019-03-22 XAz 2ASE HF20 NE=2-F 20,000 BHCMS
2019-03-22 XNGAtz| Z/SFE £20 NE=)= 5,000 2dCMmS
2019-03-22 XNGAtz| Z/SFE 430 HXIE= 2= 10,000 2dCMS
2019-03-22 XAzl 2]EE 43sto NE=2)= 20,000 284CMS
2019-03-22 X9tz =REE 400 NE=da 10,000 2d4CMS
2019-03-25 XAz =EE 0|g0 HIX|E= 2= 50,000 A=
2019-03-26 XNGAtz] =/E=E 240 NE=Ea 10,000 SSYUT
2019-03-27 XAz 2AFE o NE=d= 10,000 28CMs
2019-03-27 XAzl 2EE 720 NE== 5,000 2dCMS
2019-03-27 XAzl 2]EE AEO NE=2= 10,000 ZdCMSs
2019-03-27 X9tz =REE =Ll NE=-= 20,000 B884CMS
2019-03-27 XAtz =/FE =30 NE=Ea 50,000 2dCMS
2019-03-27 XNGAtz| =/ZE o|&0 NE=Ea 10,000 2dCMS
2019-03-27 XAtz =S 230 NE8=da 10,000 2dCMmS
2019-03-27 XNGAtz| ZASFE 510 NE== 20,000 2dCMS
2019-03-27 XAtz 2AEE 20 NE=Ea 50,000 28CMS
2019-03-27 XAzl 2]EE 40 NE=-= 10,000 84CMS
2019-03-27 XAz 2ASE S NE=d= 5,000 ZHCMS
2019-03-27 XNGAtz] =)= E 30 HIX|E= 2= 5,000 2dCMS
2019-03-27 X9Arz 2AEE =730 HX|E= 2= 5,000 29CMS
2019-03-27 XAzl 2AEE o|ojo HXIE= 2= 5,000 ZdCMS
2019-03-27 XAzl 2]EE £IAM0 NE== 10,000 2HCMS
2019-03-27 XAtz == 2350 NE=2Ea 10,000 2dCMS
2019-03-27 XAtz Z/FE 20 NE=Ea 10,000 24CMS
2019-03-27 XAz 2ASE == 21[) NE=2-= 20,000 ZHCMS
2019-03-27 XAzl 2dEE 5120 HX|E= 23 10,000 29CMS
2019-03-27 X9Arz 2AEE 0|20 HXIE= 2= 20,000 ZdCMS
2019-03-27 XAz 2ASE 420 HXE= S 10,000 BHCMS
2019-03-27 XAzl 2]EE 0|20 HXE= = 20,000 BHCMS
2019-03-28 XNGAtz| ZAFE 430 HX|E= 2= 5,000 2dCMS
2019-03-28 XAtz Z)FE olsio HXIE= 2= 5,000 284CMS
2019-03-28 X9tz =REE gcto NE=da 10,000 24CMS
2019-03-28 XAz 2AFE =0 XNE=d= 20,000 k=R NaVS
2019-03-28 XNGAtz| ==& 4Lto NE=Ea 50,000 2d4CMS
2019-03-28 XAtz =A=E SN [0 HIX|E =23 50,000 2d4CMS
2019-03-29 XAzl 2SS 270 NE8=Ea 10,000 2dCMms
2019-03-29 XAz 2EE %[0 NE=Ea 50,000 284CMS
2019-04-01 X9Arzl 2JEE Z30 NE=-= 10,000 284CMS
2019-04-01 XAzl 2)EE 0|710 NE8=2Ra 10,000 24CMS
2019-04-03 XAtz =RSFE ESPA[Y NE=Ea 20,000 2d4CMS
2019-04-03 XNGAtz] ==& 440 NE=Ea 20,000 2dCMS
2019-04-03 XAzl 2AEE 0|20 HIX|E= 2= 5,000 2dCMmSs




2019-04-03 XNGAtz] =ASE 240 NE=2Ea 10,000 2dCMS
2019-04-03 XAzl 2AEE galo NE8=Ea 10,000 2dCMmS
2019-04-03 XAzl 2AEE ESPA[Y NE=Ea 30,000 2dCMS
2019-04-03 X9Atz] =REE 0180 NE=2)= 50,000 284CMS
2019-04-03 X9tz =REE 400 HXE= = 20,000 2d4CMS
2019-04-03 XAz =EE %50 NE=Ea 30,000 2d4CMmS
2019-04-08 XAz 2ASE AEQ HXE=dZ 10,000 ZHCMS
2019-04-08 XAtz Z/SFE 40 NE8=Ea 10,000 2d9CMmSs
2019-04-12 XAzl 2EE g0 NE== 2,000 2dCMS
2019-04-17 XAzl 2]EE 0180 NE=2= 10,000 ZdCMSs
2019-04-17 XAzl 2dEE 440 NE=-= 10,000 B884CMS
2019-04-17 XAtz =/FE 440 HIX|E =23 10,000 2HCMS
2019-04-17 XNGAtz| =/ZE 0|Z0 HIX|E= 2= 50,000 SHYT
2019-04-19 XAtz =S X0 NE8=da 20,000 2dCMmS
2019-04-22 X9Arzl 2AEE Hif==0 NE== 30,000 2dCMS
2019-04-24 XAz 2]EE 750 NE=-= 10,000 BHCMS
2019-04-24 X9tz 2REE g2 NE=-= 5,000 84CMS
2019-04-24 XNGAtz] Z/FE R EA0) NE8=Ea 10,000 28CMS
2019-04-24 XNGAtz] =)= E SX[0 HIX|E= 2= 10,000 2dCMS
2019-04-24 XAtz Z/FE =30 HX|E= 2= 10,000 29CMS
2019-04-24 XAzl 2AEE o|ojo NE=Ra 10,000 ZdCMS
2019-04-24 XAzl 2]EE HF20 NE== 20,000 2HCMS
2019-04-24 XAtz == E20 NE=2Ea 5,000 2dCMS
2019-04-24 XAtz Z/FE 430 HX|E= 2= 10,000 284CMS
2019-04-24 XAtz =/FE 4d3zto NE=EaE 20,000 2HCMS
2019-04-24 XAzl 2dEE 400 NE8=da 10,000 29CMS
2019-04-26 XAtz 2/ 230 NE8=R= 10,000 A=
2019-04-29 XAz 2ASE 420 NE=2-= 10,000 BHCMS
2019-04-29 XNtz =E=E 720 NE=Ea 5,000 2dCMS
2019-04-29 XNGAtz| ZAFE A0 NE8=Ea 10,000 2dCMS
2019-04-29 XAzl 2EE HE M0 NE=Ea 20,000 284CMS
2019-04-29 X9tz =REE =30 NE=da 50,000 24CMS
2019-04-29 XAz 2)EE O|&0 NE=2R= 10,000 2dCMS
2019-04-29 XNGAtz| ==& 230 NE=Ea 10,000 28CMS
2019-04-29 XAtz =A=E 510 NE=-F 20,000 2d4CMS
2019-04-29 XAzl 2SS 20 NE8=Ea 50,000 2dCMms
2019-04-29 XNGAtz] Z/FE #d0 NE=Ea 10,000 284CMS
2019-04-29 X9Arzl 2JEE ) NE=-= 5,000 284CMS
2019-04-29 XAzl 2)EE 430 HXEd= &= 5,000 ZdCMS
2019-04-29 XAtz =RSFE olsio HIX|E= 2= 5,000 2d4CMS
2019-04-29 XNGAtz] ==& 30 HIX|E= 23 5,000 2dCMS
2019-04-29 XAzl 2AEE =730 HIX|E= 2= 5,000 2dCMmSs




2019-04-29 XNGAtz] =ASE olojo NE=2Ea 5,000 2dCMS
2019-04-29 XNGAtz| Z/SFE ZIAM0 NE8=Ea 10,000 2dCMmS
2019-04-29 XAzl 2AEE 2o NE=Ea 10,000 2dCMS
2019-04-29 X9Atz] =REE 23]0 NE=2)= 10,000 284CMS
2019-04-29 XAzl 2]EE £20 NE=-= 10,000 2d4CMS
2019-04-29 XNGAtz| =/FE Ello) NE=Ea 20,000 2d4CMmS
2019-04-29 XNGAtz] =/E=E 5120 HIX|E =23 10,000 2dCMS
2019-04-29 XAtz Z/SFE 420 HIX|E= 2= 10,000 2d9CMmSs
2019-04-29 XNGAtz] Z/FE 40 HIXE= 2= 20,000 2dCMS
2019-04-29 XAzl 2]EE 4Lto HXE= 50,000 ZdCMSs
2019-04-29 X9tz =REE %70 HXE= = 50,000 B884CMS
2019-04-29 XAz =EE 0|20 NE=Ea 20,000 2dCMS
2019-04-29 XNGAtz| =/ZE 420 NE=Ea 10,000 28CMS
2019-04-29 XAzl 2dEE gkxHo NE8=da 50,000 2dCMmS
2019-04-29 X9Arzl 2AEE Ol=i0 HXIE= 2= 20,000 2dCMS
2019-05-02 XAz 2]EE Z30 NE=-= 10,000 BHCMS
2019-05-02 X9tz 2REE ZX]0 NE=-= 20,000 84CMS
2019-05-02 XNGAtz] Z/FE 440 NE8=Ea 20,000 2dCMS
2019-05-02 XNGAtz] =)= E 0|20 NE=Ea 5,000 2dCMS
2019-05-02 X9Arz 2AEE 2730 HX|E= 2= 10,000 29CMS
2019-05-02 XAzl 2AEE g0 NE=Ra 10,000 ZdCMS
2019-05-02 XNtz =AE=E g9lo NE=Ea 10,000 24CMS
2019-05-02 XAtz == Z[Xlo NE=2Ea 30,000 2dCMS
2019-05-02 XAtz Z/FE 0|7]0 NE=Ea 10,000 284CMS
2019-05-02 XAtz =/FE %50 NE=EaE 30,000 2dCMS
2019-05-07 XAzl 2dEE ps]e NE8=da 50,000 29CMS
2019-05-07 XAtz 2/ Z0/o HXIE= 2= 20,000 ZdCMS
2019-05-09 XAtz =AEE 40 NE=Ea 10,000 2d4CMS
2019-05-13 XNtz =E=E HF &40 NE=Ea 2,000 2dCMS
2019-05-16 XNGAtz| ZAFE 440 HX|E= 2= 10,000 2dCMS
2019-05-17 XAtz Z)FE G HXIE= 2= 10,000 284CMS
2019-05-17 X9tz =REE 0|80 NE=da 10,000 24CMS
2019-05-17 XNYAtz] Z/SFE 440 NE=2R= 10,000 2dCMS
2019-05-20 XNGAtz| ==& 4Xlo NE=Ea 20,000 2d4CMS
2019-05-22 XAz 2JAEE 750 NE=-F 10,000 BHCMS
2019-05-22 XAzl 2SS 220 NE=d= 5,000 2dCMms
2019-05-22 XAz 2AFE Rl NE=d= 10,000 ZHCMS
2019-05-22 X9Atz] =REE X0 HXE= = 10,000 284CMS
2019-05-22 XAzl 2)EE =0 NE8=2Ra 10,000 ZdCMS
2019-05-22 XAz 2ASE o|ofo NE=2F 10,000 ZHCMS
2019-05-22 XAz 2ASE HF20 NE=-F 20,000 BHCMS
2019-05-22 XAtz Z/FE £20 HIX|E= 2= 5,000 2dCMmSs




2019-05-22 XNGAtz] =ASE NE=2Ea 10,000 2dCMS
2019-05-22 XAzl 2AEE NE8=Ea 30,000 2dCMmS
2019-05-22 XAzl 2AEE HXIE= 2= 10,000 2dCMS
2019-05-24 XAt Q2= MSEECE! 50,000 Exfol3
2019-05-27 XAzl 2]EE Do NE=-= 10,000 A=
2019-05-29 XAz 2ASE 420 NE=F 10,000 ZHCMS
2019-05-29 XNGAtz] =/E=E 720 NE=Ea 5,000 2dCMS
2019-05-29 XAtz Z/SFE A0 NE8=Ea 10,000 2d9CMmSs
2019-05-29 XNGAtz] Z/FE =30 NE8=Ea 50,000 2dCMS
2019-05-29 XAzl 2]EE O|&0 NE=2= 10,000 ZdCMSs
2019-05-29 XAzl 2dEE 230 NE=-= 10,000 B884CMS
2019-05-29 XAtz =/FE 510 NE=Ea 20,000 2dCMS
2019-05-29 XAz 2ASE 220 NE=-F 50,000 ZHCMS
2019-05-29 XAz 2AFE Z9o NE=Hd= 10,000 2dCMs
2019-05-29 XNGAtz| ZASFE 2t20 NE== 5,000 2dCMS
2019-05-29 XAtz 2AEE 430 HIXE =23 5,000 24CMS
2019-05-29 X9tz 2REE HXE=dF 5,000 84CMS
2019-05-29 XAzl 2EE HX|E == 5,000 2dCMS
2019-05-29 XAzl =EE HIX|E= 2= 5,000 2dCMS
2019-05-29 X9Arz 2AEE HX|E= 2= 5,000 29CMS
2019-05-29 XAzl 2AEE NE=Ra 10,000 ZdCMS
2019-05-29 XNtz =AE=E HIX|E =23 10,000 24CMS
2019-05-29 XAtz == NE=2Ea 20,000 2dCMS
2019-05-29 XAzl 2EE g NE=d= 10,000 284CMS
2019-05-29 XAtz =/FE 2350 NE=EaE 10,000 2dCMS
2019-05-29 XAtz 2] £20 NE8=da 10,000 29CMS
2019-05-29 XAtz 2/ Z0o NE8=R= 20,000 ZdCMS
2019-05-29 XAtz =AEE 5120 NE=Ea 10,000 2d4CMS
2019-05-29 XAzl 2]EE 420 NE=-= 10,000 BHCMS
2019-05-29 XAz 2AFE 4=0 NE=d= 20,000 Z3CMs
2019-05-29 XAtz Z)FE 4Lto NE=Ea 50,000 284CMS
2019-05-29 X9tz =REE %70 NE=da 50,000 2dCMs
2019-05-29 XAz 2)EE 0|20 HXE= 2= 20,000 2dCMS
2019-05-29 XAz 2JAEE A0 HXE= S 10,000 ZHCMS
2019-05-29 XAtz =A=E SN [0 HIX|E =23 50,000 2d4CMS
2019-05-29 XAzl 2SS O|=i0 HIX|E= 2= 20,000 2dCMms
2019-06-03 XAz 2AFE Z#0 NE=d= 10,000 ZHCMS
2019-06-03 X9Atz] =REE ESPN[ NE=-= 20,000 284CMS
2019-06-03 XAzl 2)EE #4490 HXIE= )= 20,000 ZdCMS
2019-06-03 XAtz =RSFE 0|20 NE=Ea 5,000 2d4CMS
2019-06-03 XNGAtz] ==& g9lo NE=Ea 10,000 2dCMS
2019-06-03 XAzl 2AEE ESPA[Y NE8=da 30,000 2dCMmSs




2019-06-03 XNGAtz] =ASE 0|7]0 NE=2Ea 10,000 2dCMS
2019-06-03 XAzl 2AEE %50 NE8=Ea 30,000 2dCMmS
2019-06-05 XAzl 2AEE olEo0 NE=Ea 50,000 2dCMS
2019-06-07 X9Atz] =REE 4=0 NEzda 10,000 284CMS
2019-06-12 XAzl 2]EE AEQ HXE= = 10,000 2d4CMS
2019-06-12 XNGAtz| =/FE &0 NE=Ea 2,000 2d4CMmS
2019-06-12 XNGAtz] =/E=E 400 HIX|E =23 20,000 2dCMS
2019-06-17 XAtz Z/SFE 440 HIX|E= 2= 10,000 2d9CMmSs
2019-06-19 XAzl 2EE o0 NE8=Ea 10,000 2dCMS
2019-06-19 XAzl 2]EE 240 NE=2= 10,000 24CMS
2019-06-19 X9tz =REE 4x[o NE=-= 20,000 B884CMS
2019-06-20 XAz =EE Hi{ <=0 NE=Ea 30,000 2dCMS
2019-06-24 XNGAtz| =/ZE 750 NE=Ea 10,000 2dCMS
2019-06-24 XAzl 2dEE 520 NE=)= 5,000 2dCMmS
2019-06-24 XAz 2AFE SN NE=d= 10,000 23CMs
2019-06-24 XAtz 2AEE SX[0 HIXE =23 10,000 24CMS
2019-06-24 XAzl 2]EE =30 HXE=dF 10,000 84CMS
2019-06-24 XNGAtz] Z/FE HtS0 NE8=Ea 20,000 2dCMS
2019-06-24 XAz 2ASE £20 NE=2-F 5,000 ZHCMS
2019-06-24 XAtz Z/FE 430 HX|E= 2= 10,000 29CMS
2019-06-24 XAtz ZASFE 400 NE=Ra 10,000 ZdCMS
2019-06-25 XNtz =AE=E o|go HIX|E =23 50,000 =
2019-06-26 XAzl 2]EE 2AF0 NE=-= 10,000 SYYU=
2019-06-27 XAz 2SS Z4o NE=2dF 10,000 2dCMs
2019-06-27 XAtz =/FE 720 NE=EaE 5,000 2dCMS
2019-06-27 XAzl 2dEE AHO NE8=da 10,000 29CMS
2019-06-27 XAtz 2/ =30 NE8=R= 50,000 ZdCMS
2019-06-27 XAz 2ASE 0|&0 NE=2-= 10,000 BHCMS
2019-06-27 XAzl 2]EE 20 NE=-= 10,000 BHCMS
2019-06-27 XNGAtz| ZAFE 510 NE8=Ea 20,000 2dCMS
2019-06-27 XAtz Z)FE 20 NE=Ea 50,000 284CMS
2019-06-27 XYArzl 2]EE 40 NE== 10,000 Z9CMS
2019-06-27 XAz 2AFE 2l XNE=d= 5,000 k=R NaVS
2019-06-27 XNGAtz| ==& 30 HIX|E =23 5,000 2d4CMS
2019-06-27 XAz 2JAEE F8o0 HXE=dZ 5,000 BHCMS
2019-06-27 XAzl 2SS o|ojo HIX|E= 2= 5,000 2dCMms
2019-06-27 XNGAtz] Z/FE ZIM0 HXE= 2= 10,000 284CMS
2019-06-27 X9Atz] =REE 3]0 NE=-= 10,000 284CMS
2019-06-27 XAtz 2SS £20 NE8=2Ra 10,000 ZdCMS
2019-06-27 XAtz =RSFE Ello) NE=Ea 20,000 2d4CMS
2019-06-27 XNGAtz] ==& 5120 NE=Ea 10,000 2dCMS
2019-06-27 XAz 2AFE 410 NE2d= 10,000 23CMs




2019-06-27 XNGAtz] =ASE %[0 NE=2Ea 50,000 2dCMS
2019-06-27 XAzl 2AEE 0|20 HIX|E= 2= 20,000 2dCMmS
2019-06-27 XNGAtz| Z/SFE 420 HXIE= 2= 10,000 2dCMS
2019-06-27 X9Atz] =REE 0|20 HXE= = 20,000 284CMS
2019-06-28 X9tz =REE 4o HXE= = 5,000 2d4CMS
2019-06-28 XNGAtz| =/FE ols{0 HIX|E= 2= 5,000 2d4CMmS
2019-06-28 XAz 2ASE 2rtho NE=2-F 10,000 ZdCMSs
2019-06-28 XAtz Z/SFE 40 NE8=Ea 20,000 2d9CMmSs
2019-06-28 XNGAtz] Z/FE 4Lto NE8=Ea 50,000 2dCMS
2019-06-28 XAzl 2]EE 230 HXE= 50,000 ZdCMSs
2019-06-28 X9tz =REE MEo HXE= = 200,000 R A=
2019-07-01 XAz 2]ASE Z30 NE=2dF 10,000 ZHCMS
2019-07-01 XNGAtz| =/ZE =0 NE=Ea 10,000 2dCMS
2019-07-01 XAtz =S 2tdo NE8=da 20,000 2dCMmS
2019-07-01 X9Arzl 2AEE 0|710 NE== 10,000 2dCMS
2019-07-03 XAtz 2AEE ESPA[Y NE=Ea 20,000 24CMS
2019-07-03 XAzl 2]EE 490 NE=-= 20,000 84CMS
2019-07-03 XAzl 2EE 0|20 HX|E == 5,000 2dCMS
2019-07-03 XAzl =EE 240 NE=Ea 10,000 2dCMS
2019-07-03 X9Arz 2AEE dao NE8=da 10,000 29CMS
2019-07-03 XAzl 2AEE Z[X|0 NE=Ra 30,000 ZdCMS
2019-07-03 XNtz =AE=E oo NE=Ea 50,000 24CMS
2019-07-03 XAtz == 40/o HIXE=2 3 20,000 2dCMS
2019-07-03 XAzl 2EE %50 NE=Ea 30,000 284CMS
2019-07-08 XAz 2ASE AEQ HXE2 S 10,000 ZHCMS
2019-07-08 XAzl 2dEE 4=0 NE8=da 10,000 29CMS
2019-07-12 X9Arz 2AEE 240 NE=/= 2,000 ZdCMS
2019-07-17 XAz 2ASE 0180 NE=2-= 10,000 BHCMS
2019-07-17 XNtz =E=E 440 NE=Ea 10,000 28CMS
2019-07-17 XNGAtz| ZAFE 4430 HX|E= 2= 10,000 2dCMS
2019-07-22 XAtz Z)FE Hif==0 NE=Ea 30,000 24CMS
2019-07-24 X9tz =REE 70 NE=da 10,000 24CMS
2019-07-24 XAz 2)EE 520 NE=2R= 5,000 2dCMS
2019-07-24 XNGAtz| ==& EN) NE=Ea 10,000 2d4CMS
2019-07-24 XAtz =A=E SX[0 HIX|E =23 10,000 2d4CMS
2019-07-24 XNGAtz| ZASFE =30 HIX|E= 2= 10,000 2dCMms
2019-07-24 XAtz =)EE 220 NE=d= 20,000 24CMS
2019-07-24 X9Arzl 2JEE £20 NE=-= 5,000 284CMS
2019-07-24 XAzl 2)EE 430 HXIE= )= 10,000 ZdCMS
2019-07-24 XAtz =RSFE 400 NE=Ea 10,000 2d4CMS
2019-07-25 XNGAtz] ==& X0 NE=Ea 20,000 2dCMS
2019-07-25 XAzl 2AEE 0|g0 HIX|E= 2= 50,000 ST




2019-07-26 XAz 2ASE AH0 NE=2-F 10,000

2019-07-29 XAz 2AFE ZZo NE=d= 10,000 23CMs
2019-07-29 XAzl 2AEE 720 NE=d= 5,000 2dCMS
2019-07-29 XAzl 2]EE A0 NE=2)= 10,000 284CMS
2019-07-29 X9tz =REE =30 NE=da 50,000 2d4CMS
2019-07-29 XAz =EE o|&0 NE=Ea 10,000 2d4CMmS
2019-07-29 XNGAtz] =/E=E 230 NE=Ea 10,000 2dCMS
2019-07-29 XAtz Z/SFE 510 NE8=Ea 20,000 2d9CMmSs
2019-07-29 XAzl 2EE 20 NE8=Ea 50,000 2dCMS
2019-07-29 XAzl 2]EE 420 NE=2= 10,000 24CMS
2019-07-29 XAzl 2dEE ) NE=-= 5,000 B884CMS
2019-07-29 XAtz =/FE 430 HIX|E =23 5,000 2dCMS
2019-07-29 XNGAtz| =/ZE ols{0 HIX|E= 2= 5,000 2dCMS
2019-07-29 XAtz =S g0 HX|E= 2= 5,000 2dCMmS
2019-07-29 X9Arzl 2AEE =730 HXIE= 2= 5,000 2dCMS
2019-07-29 XAtz 2AEE olojo NE=Ea 5,000 24CMS
2019-07-29 X9tz 2REE WPS[ NE=-= 10,000 84CMS
2019-07-29 XNGAtz] Z/FE 2tdo NE8=Ea 20,000 2dCMS
2019-07-29 X9tz =)EE 2o NE=2-F 10,000 Z8CMS
2019-07-29 XAtz Z/FE 2350 NE8=da 10,000 29CMS
2019-07-29 XAtz ZASFE &=20 NE=Ra 10,000 ZdCMS
2019-07-29 XNtz =AE=E Zis '8 () HIX|E =23 20,000 24CMS
2019-07-29 XAtz == 5120 HIXE=2 3 10,000 2dCMS
2019-07-29 XAtz Z/FE 20 HX|E= 2= 10,000 284CMS
2019-07-29 XAtz =/FE 4=0 HIX|E == 20,000 2HCMS
2019-07-29 XAzl 2dEE 4Lto HX|E= 23 50,000 29CMS
2019-07-29 X9Arz 2AEE %[0 NE8=R= 50,000 ZdCMS
2019-07-29 XAtz =AEE 0|20 NE=Ea 20,000 2d4CMS
2019-07-29 XAzl 2]EE FAEN) NE=-= 10,000 BHCMS
2019-07-29 XAzl 2AEE SN [0 NE8=Ea 50,000 2dCMS
2019-07-29 XAzl 2EE Ol=i0 HXIE= 2= 20,000 284CMS
2019-07-31 X9tz =REE 2=0 NE=da 10,000 24CMS
2019-08-01 XAz 2)EE ESPA[Y NE=2R= 20,000 2dCMS
2019-08-01 XAz 2JAEE d4o NE=2F 20,000 ZHCMS
2019-08-01 XAz 2JAEE 0|20 HXE=dZ 5,000 BHCMS
2019-08-01 XAzl 2SS ESPA[Y NE8=Ea 30,000 2dCMms
2019-08-01 XNGAtz] Z/FE %50 NE=Ea 30,000 284CMS
2019-08-02 X9Arzl 2JEE Z30 NE=-= 10,000 284CMS
2019-08-02 XAzl 2)EE 9o NE8=2Ra 10,000 24CMS
2019-08-02 XAz 2ASE 01710 NE=2F 10,000 ZHCMS
2019-08-05 XNGAtz] ==& ol Eo NE=Ea 50,000 2dCMS
2019-08-05 XAtz Z/FE 400 HIX|E= 2= 20,000 2dCMmSs




2019-08-07 XAz 2ASE AEQ HXE= S 10,000 BHCMS
2019-08-07 XNGAtz| Z/SFE 4=0 NE8=Ea 10,000 2dCMmS
2019-08-14 XAzl 2AEE 240 NE=d= 2,000 2dCMS
2019-08-16 XAzl 2]EE 440 HXE= = 10,000 284CMS
2019-08-19 X9tz =REE 0180 NE=da 10,000 2d4CMS
2019-08-19 XAz 2ASE #Z0 NE=F 10,000 ZHCMS
2019-08-21 XAz 2ASE Hi <=0 NE=2-F 30,000 ZHCMS
2019-08-22 XAzl 2AEE =0 NE8=Ea 10,000 2d9CMmSs
2019-08-22 XAzl 2EE 820 NE== 5,000 2dCMS
2019-08-22 XAzl 2]EE E) NE=2= 10,000 ZdCMSs
2019-08-22 X9tz =REE X0 HXE= = 10,000 B884CMS
2019-08-22 XAtz =/FE =30 HIX|E =23 10,000 2dCMS
2019-08-22 XNGAtz| =/ZE Ht=0 NE=Ea 20,000 2dCMS
2019-08-22 XAtz =S £20 NE=)= 5,000 2dCMmS
2019-08-22 XNGAtz| ZASFE 430 HXIE= 2= 10,000 2dCMS
2019-08-22 XAtz 2AEE 40/o NE=Ea 10,000 24CMS
2019-08-23 X9tz 2REE AX[0 NE=-= 20,000 84CMS
2019-08-23 XAzl 2EE 0|g0 HX|E == 50,000 SHYES
2019-08-26 XNGAtz] =)= E 240 NE=Ea 10,000 SSYT
2019-08-28 XAtz Z/FE 420 NE8=da 10,000 29CMS
2019-08-28 XAzl 2AEE 720 NE=)= 5,000 ZdCMS
2019-08-28 XNtz =AE=E =30 NE=Ea 50,000 24CMS
2019-08-28 XAzl 2]EE 20 NE=-= 10,000 BHCMS
2019-08-28 XAtz Z/FE 510 NE=Ea 20,000 284CMS
2019-08-28 XAz =EE 20 NE=EaE 50,000 2dCMS
2019-08-28 XAtz 2] 440 NE8=da 10,000 29CMS
2019-08-28 XAtz 2/ k20 NE=/= 5,000 ZdCMS
2019-08-28 XAtz =AEE 430 HIX|E =23 5,000 2d4CMS
2019-08-28 XAzl 2]EE ol&flo HXE= = 5,000 BHCMS
2019-08-28 XNGAtz| ZAFE 30 HX|E= 2= 5,000 2dCMS
2019-08-28 XAzl 2EE =730 HXIE= 2= 5,000 284CMS
2019-08-28 X9tz =REE o|ofo HXE= = 5,000 24CMS
2019-08-28 XNYAtz] Z/SFE ZIM0 HXE= 2= 10,000 2dCMS
2019-08-28 XAz 2JAEE 2o NE=2F 10,000 ZdCMs
2019-08-28 XAtz =A=E 2350 NE=2Ea 10,000 2d4CMS
2019-08-28 XAz 2AFE &80 NE=d= 10,000 k=2 eV S
2019-08-28 XAz 2AFE R NE=d= 20,000 ZHCMS
2019-08-28 X9Atz] =REE 5120 NE=-= 10,000 284CMS
2019-08-28 XAtz 2SS 220 NE8=2Ra 10,000 ZdCMS
2019-08-28 XAz 2ASE 4=0 NE=2F 20,000 ZHCMS
2019-08-28 XNGAtz] ==& 4Lto NE=Ea 50,000 2dCMS
2019-08-28 XAzl 2AEE %70 HIX|E= 2= 50,000 2dCMmSs




2019-08-28 XNGAtz] =ASE 0|20 HIX|E= 23 20,000 2dCMS
2019-08-28 XNGAtz| Z/SFE 420 HIX|E= 2= 10,000 2dCMmS
2019-08-28 XAzl 2AEE SN [0 HXIE= 2= 50,000 2dCMS
2019-08-28 X9Atz] =REE 0|20 NE=2)= 20,000 284CMS
2019-08-29 X9tz =REE 880 NE=-= 10,000 2d4CMS
2019-08-30 XNGAtz| =/FE AHO NE=Ea 10,000 2d4CMmS
2019-09-02 XAz 2ASE Z30 NE=2-F 10,000 ZHCMS
2019-09-02 XAzl 2AEE O|&0 NE8=Ea 10,000 2d9CMmSs
2019-09-02 XAzl 2EE ESPA[Y NE8=Ea 20,000 2dCMS
2019-09-02 XAzl 2]EE 240 NE=2= 20,000 24CMS
2019-09-02 X9tz =REE 0|20 HXE= = 5,000 B884CMS
2019-09-02 XAtz =/FE ESPA[Y NE=Ea 30,000 2dCMS
2019-09-02 XNGAtz| =/ZE 0|7]0 NE=Ea 10,000 2dCMS
2019-09-02 XAzl 2dEE %50 NE8=da 30,000 2dCMmS
2019-09-04 X9Arzl 2AEE dalo NE== 10,000 2dCMS
2019-09-04 XAz 2]EE 0180 NE=-= 50,000 BHCMS
2019-09-04 X9tz 2REE 400 HXE=dF 20,000 84CMS
2019-09-09 XNGAtz] Z/FE 40 NE8=Ea 10,000 2dCMS
2019-09-16 XAzl =EE &0 NE=Ea 2,000 2dCMS
2019-09-18 X9Arz 2AEE o|Eo0 NE8=da 10,000 29CMS
2019-09-18 XAtz ZASFE 440 NE=Ra 10,000 ZdCMS
2019-09-18 XAzl 2]EE #4d0 HXE= S 10,000 2HCMS
2019-09-20 XAtz == Hif=~0 NE=2Ea 30,000 2dCMS
2019-09-23 XAzl 2EE T=0 NE=Ea 10,000 284CMS
2019-09-23 XAz =EE 820 NE=EaE 5,000 2dCMS
2019-09-23 XAtz 2] ) NE8=da 10,000 29CMS
2019-09-23 X9Arz 2AEE SX[0 HXIE= 2= 10,000 ZdCMS
2019-09-23 XAz 2ASE =g0 HXE= S 10,000 BHCMS
2019-09-23 XNtz =E=E 220 NE=Ea 20,000 2dCMS
2019-09-23 XNGAtz| ZAFE £20 == 5,000 2dCMS
2019-09-23 XAtz Z)FE 430 HXIE= 2= 10,000 284CMS
2019-09-23 X9tz =REE 40[0 NE=da 10,000 24CMS
2019-09-25 XNYAtz] Z/SFE 4Xlo NE=2R= 20,000 2dCMS
2019-09-25 XNGAtz| ==& o|go HIX|E =23 50,000 ST
2019-09-26 XAz 2JAEE 2AH0 NE=-F 10,000 SYY=
2019-09-27 XAz 2AFE o NE=d= 10,000 k=2 eV S
2019-09-27 XNGAtz] Z/FE 720 NE=d= 5,000 284CMS
2019-09-27 X9Arzl 2JEE A0 NE=-= 10,000 284CMS
2019-09-27 XAzl 2)EE =30 NE8=2Ra 50,000 ZdCMS
2019-09-27 XAtz =RSFE 230 NE=2F 10,000 2d4CMS
2019-09-27 XAz 2ASE 510 NE=-F 20,000 BHCMS
2019-09-27 XAzl 2AEE 220 NE8=da 50,000 2dCMmSs




2019-09-27 XAz 2ASE A0 NE=2-F 10,000 BHCMS
2019-09-27 XNGAtz| Z/SFE 2t20 NE=)= 5,000 2dCMmS
2019-09-27 XNGAtz| Z/SFE 30 HXIE= 2= 5,000 2dCMS
2019-09-27 X9Atz] =REE #7380 HXE= = 5,000 284CMS
2019-09-27 X9tz =REE o|ofo HXE= = 5,000 2d4CMS
2019-09-27 XNGAtz| =/FE 2350 NE=Ea 10,000 2d4CMmS
2019-09-27 XNGAtz] =/E=E =520 NE=Ea 10,000 28CMS
2019-09-27 XAz 2AFE Z0lo NE=d= 20,000 28CMs
2019-09-27 XAzl 2EE 5120 NE8=Ea 10,000 2dCMS
2019-09-27 XAzl 2]EE 420 NE=2= 10,000 24CMS
2019-09-27 X9tz =REE %70 NE=-= 50,000 =RV
2019-09-27 XAtz =/FE 0|20 HIX|E =23 20,000 2dCMS
2019-09-27 XNGAtz| =/ZE o|=i0 HIX|E= 2= 20,000 2dCMS
2019-09-30 XAzl 2dEE O|&0 NE8=da 10,000 2dCMmS
2019-09-30 XNGAtz| ZASFE 430 NE=)d= 5,000 2dCMS
2019-09-30 XAtz 2AEE oI350 HIXE =23 5,000 24CMS
2019-09-30 X9tz 2REE 2=0 HXE=dF 10,000 84CMS
2019-09-30 XNGAtz] Z/FE ZlIM0 HX|E == 10,000 2dCMS
2019-09-30 X9tz =)EE 2o NE=2-F 10,000 Z8CMS
2019-09-30 XAtz Z/FE azto NE8=da 20,000 29CMS
2019-09-30 XAtz ZASFE 4=0 NE=Ra 20,000 ZdCMS
2019-09-30 XNtz =AE=E 4Lto NE=Ea 50,000 24CMS
2019-09-30 XAtz == 2EXH0 HIXE=2 3 50,000 2dCMS
2019-10-02 XAz 2SS ZH0 NE=2dF 10,000 ZHCMS
2019-10-02 XAtz =/FE Z[Xl0 NE=EaE 20,000 2dCMS
2019-10-02 XAzl 2dEE 490 NE8=da 20,000 29CMS
2019-10-02 X9Arz 2AEE 0|20 HXIE= 2= 5,000 ZdCMS
2019-10-02 XAz 2ASE 820 NE=2-= 10,000 BHCMS
2019-10-02 XNtz =E=E g9lo NE=Ea 10,000 2dCMS
2019-10-02 XAzl 2AEE ESPA[Y NE8=Ea 30,000 2dCMS
2019-10-02 XAtz Z)FE 0|7]0 NE=Ea 10,000 284CMS
2019-10-02 X9tz =REE %50 NE=da 30,000 24CMS
2019-10-04 XAz 2)EE o0 NE=2R= 50,000 2dCMS
2019-10-04 XNGAtz| ==& 40/o HIX|E =23 20,000 2d4CMS
2019-10-10 XAz 2JAEE AEQ HXE=dZ 10,000 BHCMS
2019-10-10 XNGAtz| ZASFE 4=0 NE8=Ea 10,000 2dCMms
2019-10-14 XNGAtz] Z/FE g0 NE=Ea 2,000 24CMS
2019-10-17 X9Atz] =REE 0180 NE=-= 10,000 284CMS
2019-10-21 XAzl 2)EE Hi==0 NE8=2Ra 30,000 ZdCMS
2019-10-21 XAtz =RSFE X0 NE=Ea 20,000 2d4CMS
2019-10-23 XNGAtz] ==& 750 NE=Ea 10,000 2dCMS
2019-10-23 XAzl 2AEE 220 NE=)= 5,000 2dCMmSs




2019-10-23 XNGAtz] =ASE EN) NE=2Ea 10,000 2dCMS
2019-10-23 XNGAtz| Z/SFE SX[0 HIX|E= 2= 10,000 2dCMmS
2019-10-23 XNGAtz| Z/SFE =30 HXIE= 2= 10,000 2dCMS
2019-10-23 XAzl 2]EE £20 NE=2)= 5,000 284CMS
2019-10-23 X9tz =REE 4do HXE= = 10,000 2d4CMS
2019-10-23 XNGAtz| =/FE 400 NE=Ea 10,000 2d4CMmS
2019-10-24 XAz 2ASE 0|Z0 HXE=dZ 50,000 SYYF
2019-10-28 XAtz Z/SFE 240 NE8=Ea 10,000 SYYF
2019-10-30 XAzl 2EE 720 NE== 5,000 2dCMS
2019-10-30 XAzl 2]EE AMHO NE=2= 10,000 ZdCMSs
2019-10-30 X9tz =REE =30 NE=-= 50,000 B884CMS
2019-10-30 XAtz =/FE o|&0 NE=Ea 10,000 2dCMS
2019-10-30 XNGAtz| =/ZE 230 NE=Ea 10,000 2dCMS
2019-10-30 XAtz =S 510 NE8=da 20,000 2dCMmS
2019-10-30 X9Arzl 2AEE 20 NE== 50,000 2dCMS
2019-10-30 XAz 2]EE %0 NE=-= 10,000 BHCMS
2019-10-30 XAzl 2]EE ) NE=-= 5,000 84CMS
2019-10-30 XNGAtz] Z/FE 430 HX|E == 5,000 2dCMS
2019-10-30 XNGAtz] =)= E ols{o HIX|E= 2= 5,000 2dCMS
2019-10-30 XAtz Z/FE 30 HX|E= 2= 5,000 29CMS
2019-10-30 XAzl 2AEE =730 HXIE= 2= 5,000 ZdCMS
2019-10-30 XNtz =AE=E olojo HIX|E =23 5,000 24CMS
2019-10-30 XAtz == 2#=0 NE=2Ea 10,000 2dCMS
2019-10-30 XAtz Z/FE ZlIM0 HX|E= 2= 10,000 284CMS
2019-10-30 XAz =EE 2o NE=EaE 10,000 2dCMS
2019-10-30 XAzl 2dEE 2350 NE8=da 10,000 29CMS
2019-10-30 XAtz 2/ £20 NE8=R= 10,000 ZdCMS
2019-10-30 XAtz =AEE Ziz 2] ({] NE=Ea 20,000 2d4CMS
2019-10-30 XNtz =E=E 5120 NE=Ea 10,000 2dCMS
2019-10-30 XAz 2AFE 20 NE=d= 10,000 Z3CMs
2019-10-30 XAz 2ASE 4=0 NE=2-F 20,000 ZHCMS
2019-10-30 X9tz =REE 4Lto NE=da 50,000 24CMS
2019-10-30 XNYAtz] Z/SFE %70 NE=2R= 50,000 2dCMS
2019-10-30 XNGAtz| ==& 0|20 HIX|E =23 20,000 2d4CMS
2019-10-30 XAtz =A=E SN [0 HIX|E =23 50,000 2d4CMS
2019-10-30 XNGAtz| ZASFE O|=i0 HIX|E= 2= 20,000 2dCMms
2019-11-01 XNGAtz] Z/FE ESPA[Y NE=Ea 20,000 284CMS
2019-11-01 X9Arzl 2JEE 490 NE=-= 20,000 284CMS
2019-11-01 XAzl 2)EE 0|20 HXEd= &= 5,000 ZdCMS
2019-11-01 XAz 2ASE HF20 NE=2F 20,000 ZHCMS
2019-11-01 XAz 2ASE 530 NE=-F 10,000 BHCMS
2019-11-01 XAtz Z/FE ESPA[Y NE8=da 30,000 2dCMmSs




gy Y A 2dad 250 XYz 30,000 EAHCMS
2019-11-04 | X9HA2] 2ESE Z30 NEEDE 10,000 = AMCMS
2019-11-04 XA =AZE xol0 NCECE! 10.000 SHCMS
2019-11-04 XAtz ZRASE 0[7]0 XNg=a 10,000 BZACMS
2019-11-04 X GAtz] ZASE dojo HIXE= g 20,000 BZAHCMS
20191107 | A%AE $AZE | F%0 | AZsAI | 10000 | 2HCMS
2019-11-11 | ACiAfE $UZFE | dwo | HNESEZT | 10000 | BAHCMS
2019-11-13 X9AE U= HFALQ NEERE! 2000 T
2019-11-18 XAE saE 0| X0 NEECE! 10,000 SACMS
2019-11-18 XS smE 2140 NEECE! 10,000 SECMS
2019-11-20 X GAtz] ZASE Hi <=0 XNg=ea 30,000 BZAHCMS
20191120 | AoM2| A3E | X0 | NEsAZ | 20000 | ZHCMS
2019-11-22 XAE seIE 220 NEECE! 10,000 EHCMS
2019-11-22 XAAE sAzE orog NEECE! 5,000 TS
2019-11-22 XGAtz] =aE S EN0) ppsk=Xsi =1 10,000 SMCMS
2019-11-22 XdAE semE 2|0 NEECE! 10,000 SHCMS
2010-1122 | ANoAE $AZE | %0 | sNESET | 10000 | BHCMS
2019-11-22 XAE saE arSg NEECE! 20,000 S HCMS
2019-11-22 X AAtE SUFE £20 NCECE! 5,000 EHCMS
2019-11-22 XS sYaE 2180 HA SS9 10,000 SECMS
20191122 | N9ME a3E | dolo | NEsAZ | 10000 | ZHCMS
2019-11-27 XGAE sezE c2og NEECE! 5,000 T
2019-11-27 XAE smE =T NEECE! 10,000 SECMS
2019-11-27 XGAte] ==& =30 NESE=RT = 50,000 SAMCMS
2019-11-27 ANGA2| =d3S %0 NESEEEE 10,000 SACMS
20191127 | XM2| 2a2E | 80 AEEES | 20000 | 2ACMS
2019-11-27 XAz 2ASE %20 NEg=da 50,000 BACMS
2019-11-27 | NoAE $E3E | A% | NESEZ | 10000 | BAHCMS
2019-11-27 | X|%Afe] S3E o0 NEETE! 5000 | ZACMS
2019-11-27 XGAtE SUAFE X80 REECE! 5000 SHCMS
2019-1127 | A9Ae] Se2E | 90 NEECE 5000 | 2ACMS
2019-11-27 XAE saE BT EEEE! 5,000 BAECHS
2019-11-27 XAE saE ZIA0 MEECE! 10,000 SHCMS
20191127 | AAel $A3E | @80 | A¥sAZ | 10000 | 2HCMS
20191127 | N9ME| sa3E | 290 | AN@sdZ | 10000 | ZHCMS
2019-11-27 | AAAre] =885 z 2o NEECTE 20,000 ZACMS
2019-11-27 X GAtE sUFE 5120 NEECE! 10,000 S HCMS
2019-11-27 A9G9Arz 2REF 420 PNESE=XsTE= 10,000 SMCMS
2019-11-27 AGAe =H2S 220 NEECTE 50,000 = 4CMS
2019-11-27 XAE seFE 0120 EECE! 20,000 EES
2019-11-27 NENEEECEE 0310 EECE! 20,000 SHCMS
2019-11-28 XS saE 2180 HAES 2D 5000 2ACMS




2019-11-28 XNGAtz] =ASE oI350 HIX|E= 23 5,000 2dCMS
2019-11-28 XAzl 2AEE 2o NE8=Ea 10,000 2dCMmS
2019-11-28 XNGAtz| Z/SFE 4Lto NE=Ea 50,000 2dCMS
2019-11-28 X9Atz] =REE S [0 HXE= = 50,000 284CMS
2019-11-29 X9tz =REE 8#E0 NE=da 10,000 2d4CMS
2019-12-02 XAz 2ASE Z30 NE=F 10,000 ZHCMS
2019-12-02 XAz 2ASE 0|&0 NE=2-F 10,000 ZHCMS
2019-12-02 XAzl 2AEE 0|710 NE8=Ea 10,000 2d9CMmSs
2019-12-04 XAzl 2EE ESPA[Y NE8=Ea 20,000 2dCMS
2019-12-04 XAzl 2]EE 490 NE=2= 20,000 24CMS
2019-12-04 X9tz =REE 0|20 HXE= = 5,000 B884CMS
2019-12-04 XAtz =/FE 240 NE=Ea 10,000 2dCMS
2019-12-04 XNGAtz| =/ZE g9lo NE=Ea 10,000 2dCMS
2019-12-04 XAzl 2dEE Z[X|0 NE8=da 30,000 2dCMmS
2019-12-04 XNGAtz| ZASFE 400 HXIE= 2= 20,000 2dCMS
2019-12-04 XAtz 2AEE %50 NE=Ea 30,000 24CMS
2019-12-09 X9tz 2REE 4=0 NE=-= 10,000 84CMS
2019-12-12 XNGAtz] Z/FE g0 NE8=Ea 2,000 284CMS
2019-12-18 XAzl =EE oo NE=Ea 10,000 2dCMS
2019-12-18 XAtz Z/FE 440 HX|E= 2= 10,000 29CMS
2019-12-19 XAtz ZASFE 4Xlo NE=Ra 20,000 ZdCMS
2019-12-20 XNtz =AE=E Hi{=~0 NE=Ea 30,000 24CMS
2019-12-20 XAtz == 2350 NE=2Ea 10,000 2dCMS
2019-12-20 XAtz Z/FE =520 NE=Ea 10,000 24CMS
2019-12-20 XAtz =/FE 200 NE=EaE 20,000 2HCMS
2019-12-20 XAzl 2dEE 5120 NE=2Ra 10,000 Zd9CMS
2019-12-23 X9Arz 2AEE =0 NE8=R= 10,000 29CMS
2019-12-23 XAtz =AEE 8220 NE=Ea 5,000 2dCMS
2019-12-23 XNtz =E=E EN NE=Ea 10,000 24CMS
2019-12-23 XAzl 2AEE SX[0 HXIE= 2= 10,000 2dCMS
2019-12-23 XAtz Z)FE =30 HXIE= 2= 10,000 284CMS
2019-12-23 X9tz =REE 820 NE=da 20,000 284CMS
2019-12-23 XAz 2AFE £20 XNE=d= 5,000 k=R Na VS
2019-12-23 XNGAtz| ==& 430 HIX|E=2 = 10,000 2dCMS
2019-12-23 XAtz =A=E 40/o NE=2Ea 10,000 2d4CMS
2019-12-24 XAzl 2SS 0|g0 HXE == 50,000 ST
2019-12-26 XNGAtz] Z/FE 220 NE=Ea 10,000 SSYT
2019-12-30 X9Atz] =REE 2#=0 NE=)-= 10,000 284CMS
2019-12-30 XAzl 2)EE 720 NE8=2Ra 5,000 ZdCMS
2019-12-30 XAtz =RSFE Ao NE=-F 10,000 2dCMS
2019-12-30 XNGAtz] ==& =30 NE=Ea 50,000 2dCMS
2019-12-30 XAzl 2AEE O|&0 NE=Ra 10,000 2dCMS




2019-12-30 XNGAtz] =ASE 230 NE=2Ea 10,000 2dCMS
2019-12-30 XAzl 2AEE 510 NE=Ra 20,000 2dCMS
2019-12-30 XAzl 2AEE 20 NE=Ea 50,000 2dCMS
2019-12-30 XAzl 2]EE 440 NE=-= 10,000 84CMS
2019-12-30 XAzl 2]EE S E) NE=-= 5,000 2d4CMS
2019-12-30 XAz =EE 430 HXE=R= 5,000 2dCMS
2019-12-30 XNGAtz] =/E=E olsio HXE=R= 5,000 2dCMS
2019-12-30 XAzl 2AEE 30 HXEZR)Z 5,000 2dCMS
2019-12-30 XAzl 2EE =730 HXEZR)Z 5,000 2dCMS
2019-12-30 XAzl 2]EE o|ofo HIXE2 )3 5,000 Z4CMS
2019-12-30 X9tz =REE ZIM0 HXE2 )3 10,000 B884CMS
2019-12-30 XAz =EE 2o NE=Ea 10,000 BdCMs
2019-12-30 XAz =EE 2350 NE=Ea 10,000 2dCMs
2019-12-30 XAtz =S &=20 NE=a 10,000 ZdCMS
2019-12-30 XNGAtz| ZASFE Eallo) NE== 20,000 2dCMS
2019-12-30 XAtz 2AEE 5120 NE=Ea 10,000 24CMS
2019-12-30 XAzl 2]EE 4520 NE=-= 10,000 84CMS
2019-12-30 XAzl 2EE 4Lto NE=Ea 50,000 2dCMS
2019-12-30 XAzl =EE %70 NE=Ea 50,000 2dCMS
2019-12-30 X9Arz 2AEE 0|20 HXEZ)Z 20,000 2dCMS
2019-12-30 XAzl 2AEE 2k xHo HXEZ)Z 50,000 ZdCMS
2019-12-30 XNtz =AE=E ol=i0 HXE== 20,000 2d4CMS
2019-12-30 XAtz == AM0o HXE== 200,000 =
e A 12,434,000

Lt SAZ(EH) AL HAMN

INER=N, A& = MEI|E

2019-01-07 | +8&H| A =& 50,930 128 CMS AI8E 3 =&

2019-01-23 | +&H| A =& 50,400 =04 2 159

2019-01-23 | +=8H| 8 =& 50,400 Ol0d 2| 153

2019-02-08 | +=8H| & ==& 51,315 18 CMS AR & =8

2019-02-27 7| 2t K| 160,000 28 J|2UXtE 2012

2019-02-27 7|2 K| 160,000 2 7|EYXRE 2022

2019-02-27 7| AKX 160,000 28 7|#YXtE 203=%

2019-02-27 7| 2H A KtH| 160,000 2 J|2AXtE 2042

2019-02-27 7|2 K| 160,000 28 7| HYXE 301=

2019-02-27 7| 2 K| 160,000 28 7| HAXE 3022

2019-02-27 7| 2t KtHH| 160,000 28 7|#YXtE 303=%

2019-02-27 7|2t K| 160,000 28 7| AKX E 304




2019-02-27 7| 2L K| 90,000 2 7| HYXE 5022
2019-03-05 | +=&H| ¥ ==& 50,545 28 CMS AR % 8
2019-04-05 | +=8&H| ¥ ==& 48,840 38 CMS AR B R
2019-04-25 7| Xt 160,000 48 7| HAXtE 201=
2019-04-25 7|2t A K| 160,000 48 7| 4UXtE 2022
2019-04-25 7|2t A K| 160,000 43 7| AXtE 2032
2019-04-25 7| 2t A K| 160,000 48 7| HAXtE 2042
2019-04-25 7| 2t K| 160,000 48 7| 2UXtE 3012
2019-04-25 7| 2t K| 160,000 48 7| 2UXtE 3022
2019-04-25 7| 2t K| 160,000 48 7| 24Utz 3032
2019-04-25 7| 2L K| 160,000 43 J|HAXtE 3042
2019-04-25 7| 2t K| 90,000 48 J|@AXtE 5022
2019-05-07 | =8H| & =& 52,195 48 CMS M8E ¥ $=E
2019-06-05 | =8&H| & #=& 49,995 52 CMS AFRE U 2z
2019-06-25 7| 2 K] 90,000 62 7|2HYXE 5022
2019-06-25 7| 2t K| 160,000 62 7|ZYXE 3042
2019-06-25 7| 2 AHH| 160,000 68 7|HAXE 3032
2019-06-25 7|2 Xt 160,000 68 7|2HYAE 3022
2019-06-25 7| 2 AHH| 160,000 68 7[HUXE 3012
2019-06-25 7| 2t K| 160,000 6 7|HAXE 2042
2019-06-25 7|2 &Ko 160,000 62 7|HUXZ 2032
2019-06-25 7| 2t K| 160,000 62 7|2AXt=E 2022
2019-06-25 7|2t A K| 160,000 6 7|HYA=E 2012
2019-07-05 | =8H| & #¢& 48,125 62 CMS AFBE U 8
2019-08-05 | =8&H| & #=+& 51,480 78 CMS AIBR B 38
2019-08-22 NS L] 137,500 HD-SDI Zto2t 174
2019-09-05 | +=&H| & =2 49,445 88 CMS MEE A &
2019-09-25 7| 2t K| 90,000 92 7|2AXtE 5022
2019-09-25 7| 2t K| 160,000 98 7|ZAUXIRE 3042
2019-09-25 7| 2t K| 160,000 92 7|2UXtE 3032
2019-09-25 7|2t K| 160,000 9 7|YUXtE 302=
2019-09-25 7| 2t K| 160,000 92 7|2AXtE 3012
2019-09-25 7| 2t K| 160,000 9 7|2YUXtE 2042
2019-09-25 7|2t A K| 160,000 9F 7|&AUXR 203=%
2019-09-25 7| 2t K| 160,000 9F 7|&AUXR 2022




2019-09-25 7| 2t K| 160,000 92 7|HYAXE 2012
2019-10-07 | +=8H| % ==& 49,940 98 CMS AH8= 8l 5=
2019-10-24 SHExE 880,000 2| Za M|
2019-10-24 S I E 891,000 7|2 S EE A EH|
2019-10-25 7|2t A K| 90,000 108 7|&eXtE 5022
2019-10-25 7|2t A K| 160,000 108 7|2AXtE 304=
2019-10-25 7| 2t QK| 160,000 1038 7| HAXNE 303=
2019-10-25 7| 2t KtHH| 160,000 108 7|2eXtE 302=
2019-10-25 7| 2t A KtH| 160,000 108 7|2eXtE 301=
2019-10-25 7| 2 K| 160,000 108 7| 2HYKE 204=
2019-10-25 7| 2t K| 160,000 108 7|2Xtz 203=2
2019-10-25 7| 2t K| 160,000 108 7|2eXtz 2022
2019-10-25 7| 2t K| 160,000 108 7|2YXt=E 2012
2019-11-04 SEEXN 2,079,000 7|22 HEH | (THE)
2019-11-05 | +=8&H| X F== 48,510 108 CMS A8 & 8
2019-11-29 Al 2 EH[F X H]| 352,000 30001500 T+42| AiHf2t
2019-12-05 | +=8&H| & == 46,310 119 CMS AIRE U =42
2019-12-24 7| Bt AXtH] 160,000 128 7|#edktE 2012
2019-12-24 7|2t A K| 160,000 128 7| 2eXtE 2022
2019-12-24 7| 2t A K| 160,000 128 7|2AXtE 203=
2019-12-24 7| 2t K| 160,000 128 7| 24Xtz 2042
2019-12-24 7| 2t A KtH| 160,000 128 7|2eXtz 301=
2019-12-24 7|2t K| 160,000 128 7|2AXtE 3022
2019-12-24 7|2t K| 160,000 128 7|2eXt= 303=2
2019-12-24 7| 2t K| 160,000 128 7|2AXtE 3042
2019-12-24 7|2t K| 90,000 128 7|2AXtz 5022
A 13,257,930
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